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General Instructions :

(i) The question paper has 30 questions in all. All questions are
compulsory.

(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are Very Short Answer
Questions. Each question carries 1 mark. Answers to these
should not exceed 30 words.

(iv) Questions from serial number 9 to 20 are 3 marks questions.
Answers of these questions should not exceed 80 words
each.

(v) Questions from serial number 21 to 28 are 5 marks questions.
Answers of these questions should not exceed 120 words
each.

(vi) Question number 29 and 30 are map questions of 3 marks
each from History and Geography both. After completion,

attach the maps inside your answer-book.
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1. 1930 ¥ eferal ol ‘Sfiq o waifauee’ | foraa gmifaa fomam o ? 1
Who organised Dalits into the ‘Depressed Classes Association’ in
1930 ?
2. IR-gfEror AierEm’ o Sferlt SR o T 1 AW faRau | 1

Name the southern terminal station of the ‘North-South Corridor.’

3. 3fd o1 fordll TERRY favm & i -hamdl i FEAT I RET 9T €,
Tl 3T Tohdl SRR T SN T 7 1

If you want to extract information about the functions of any

government department, which right would you exercise ?

4. ‘TSHIfaE e 0 o1ef wE iR | 1

Explain the meaning of ‘political party.’

5. 3UMIHI o A oh SRR T IS Ueh IaTevl SIS | 1

Give any one example of consumer’s ‘right to choose.’

6. ‘TETI-THI I AT HE BT R ? 1

How do ‘pressure groups’ form ?

7. WA o fohEll Tk GEI-THE o1 IaTET GISTC ST TSTHIfdeh a1 ohl Tah
TG o &9 H 1wl ¢ | 1

Give an example of any ‘pressure group’ of India which functions

as a branch of ‘political party.’
32/1/2 3 [P.T.O.
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8. STTEATIHATST o Srel TAN § Ft THE i ITFR AT | 1

Highlight the inherent problem in double coincidence of

wants.

9. YNd H IYNIAI TSI o TR 8 oh foheal ol hRUT bl Togedwor
ST | 3x1=3

Analyse any three reasons for the beginning of the consumer

movement in India.

10. B0 H STHSA Teia o &fiHT 924 o el i shron a1 fagermor
ENEL 3x1=3

Analyse any three reasons for slowed down of Non-Cooperation

Movement in cities.

11. 5o Tafwa o 9k 9gA © | Toh doht e shi g8 i | 3x1=3

“Banks are efficient medium of exchange.” Support the statement

with arguments.

12. T9E T8 AR IMEIaH; TSHITT i fFE TR TwTfod id & ? 3aTeton
Hfed T8 iy | 3x1=3

How do the pressure groups and movements influence politics ?

Explain with examples.
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13. I QT HaT3Ti ol Teh UM € GO T T AW - S oh foTe, aiae

o g Ta Geqw GreH = I3k © 7 IS digd ¥98 hIfS | 3x1=3

Why do the movement of goods and services from one place to
another require fast and efficient means of transport ? Explain with

examples.

14. Y qUT AW 1 IRETER Fdtar 1 3eTewn gr w98 Hifv | 3x1=3

Explain with examples the interdependence of agriculture and

industries.

15. ‘e fed wel 9 form yepr fir € 7 Serel Afed T ifs | 3x1=3

How are ‘movements’ different from interest groups ? Explain

with examples.

16. FIETE SIfRINET §RT HIEE AR H Gfeeh qe= sl W1aq1 9aT1 i
& e 331w U fordi i shedi o1 aoie ST | 3x1=3

Srera
forramT T BT % est % w18 foRraATiiEl Y et # sw fored
A STSATS ST U ShiTSTY |

Describe any three steps taken by the French revolutionaries to

create a sense of collective identity amongst the French people.

Or

Describe any three changes that came in the life of Vietnamese

after the colonisation of Vietnam by the French.

32/1/2 5 [P.T.O.
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17. AThas ohl SEAR ST ATl fohegl i oo Rl Towers T shifSTT | 3x1=3

Analyse any three values that make democracy better.

18. TAFAT ATRIGH o G TTATE ol TR A | Al swrel, Mdl wa
Tt omfe o ARTE 1 HoATehd I | 3x1=3

Evaluate the contribution of folklore, songs, popular prints etc., in

shaping the nationalism during freedom struggle.

19. ‘SgULE FAHA % @Y e T s e JeR i
Bt 8 7 ot i et okt e i | 3x1=3
How are ‘local companies’ benefited by collaborating with

‘multinational companies’ ? Evaluate any three benefits.

20. YRA ¥ I 36 hl SAMSIM-RES U i Tohedl oA TRIanati
Ui HIT | 3x1=3
Describe any three characteristics of ‘Odisha-Jharkhand belt” of

iron ore in India.

21. IveteRtur <1 UfshaT ol ST @4 H T=Nfiehl o INeM o1 9uiH hIfSe | 5x1=5

Describe the contribution of technology in promoting the process

of globalisation.
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22.

23.

24.

25.

A | TeHIfaeh el § gUR @M o o fope 7o fonedl ater st o
Ui IS | 5%x1=5

Describe any five efforts made to reform political parties in India.

‘A § ggeh qiaed, o1+t off 1 ditaed i e AUk glaaseh
31" e A gy A | 5x1=5

‘Roadways still have an edge over railways in India.” Support the

statement.

o o N

T 1815 0 ‘T oe’ <t Asta fopem 1 7 o @fer’ & g
TR0 T3 g e skt fergeteor sy | 1+4=5

HAYAT

forram & agrTarg foeh wraameTt @t S e B OCgreT-grel
3TTaTe <l ftret ot forwetsor shifsre |

Who hosted ‘Vienna Congress’ in 1815 ? Analyse the main

changes brought by the ‘Vienna Treaty.’

Or

Analyse the role of ‘Hoa-Hao’ movement to arouse anti-imperialist

sentiments in Vietnam.

‘TSI Tl o @ AT o 9o i | 5x1=5

Analyse the main functions of ‘political parties.’

32/1/2 7 [P.T.O.
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26. “‘meTedT et o o iR TR Y STEENT % SR § ST TSl s
1o Twe oft |77 e ot gfe Shifs | 5x1=5

“Plantation ~ workers had their own understanding of
Mahatma Gandhi’s ideas and the notion of ‘Swaraj’.” Support the

statement.

27. 9K § fi v fafemt f stewerdr =1 37 3Rl e WY
i | 5%1=5

Why are rules and regulations needed in the market ? Explain with

examples.

28. R o Y8 ITNT o T Tohegl &1 @ ATl Sl T8 AT | TP
uee i o foreal diH 3eeal shi =Tt i | 2+3=5
Explain any two main challenges faced by the jute industry in

India. Explain any three objectives of National Jute Policy.

29. o AU A, B 3R C, WA o U U Torifaes {@T-AHfeT | 37fohd
forr U 2 | 37 @A o Fefaiad STt S wEEdaT 8 ggeHe 3T
3ok T T A ) EiE 7 e ) g 3x1=3

A. ‘THEINT AEIA ol 9199 o § Trafeed T |
B. 9% TN & TRl 1 Heamig’ & gt o1 |

C. 9% TIM SRl R TR kg’ o STREeH gt o |
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Three features A, B and C are marked on the given political outline
map of India. Identify these features with the help of the following
information and write their correct names on the lines marked on

the map :

A. The place, related to the calling off the ‘Non-Cooperation

Movement.’
B. The place where the ‘Peasant’s Satyagraha’ was started.

C. Name the place where ‘Indian National Congress’ session was

held.

ate : fHfeifiad e whaer givariam afentda & fau w1 @@ 29 &

TYIH W R :
(29.1) STEAN A I IUH oH U TEYd TE HT AW
fetfaT |

(29.2) TSAIG § 9% 9 A1 TIH 7, W&l haHl 4 G’ e
IED I

(29.3) 3| TH F1 9W foiflay SI&f 1927 § aRdE TF wEE FH
STTReT gt o |
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Note : The following questions are for the Visually Impaired

Candidates only, in lieu of Q. No. 29 :

(29.1) Name the place related to the calling off the Non-

Cooperation Movement.

(29.2) Which 1is the place where the peasants started

‘Satyagraha’ in Gujarat ?

(29.3) Name the place where Indian National Congress session

was held in 1927.

30. WA o fou U THifos W@r-aHtas 8 Fefeifaa @ 39 el |

29130 3R 3k W ferfiau - 3
A. 9d9 - AIRI-3WId s
B. ®Ed - YW Y IO

C. TAR — HFeAIL SHIATSI TTeh

On the given political outline map of India locate and label the

following with appropriate symbols :

A. Salem — Iron and Steel Centre
B. Kandla — Major Sea Port

C. Hyderabad - Software Technology Park

32/1/2 10
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e . Tmfafe yw Faet givatfam adenfet & fog y= @@ 30 &

A WE:

(30.1) TfHEATg | fEra 1fvareh Ssit Gt o1 9 foifae |
(30.2) 3Tifeen & 1 o1 Y@ Ayt uaq {2 7

(30.3) YR ‘“AreT 9 3eura 99 fopa s o fera 2 7

Note : The following questions are for the Visually Impaired

Candidates only in lieu of Q. No. 30 :
(30.1) Name the Nuclear Plant located in Tamil Nadu.
(30.2) Which is the major Sea Port located in Odisha.

(30.3) In which state is Durgapur ‘Iron and Steel Plant’

located ?
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